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Q3. A random variable X has the following distribution function:
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Q4.We have four boxes. Box 1 contains 2000 components of which 5% are defective. Box 2 contains 500
compﬂents of which 40% are defective. Boxes 3 and 4 contain 1000 each with 10% defective. We
/“sele::t atrandom one of the boxes, and we remove at random a single component.

a) What is the probability that the selected component is defective?

b) If the selected component is defective, what is the probability that it came from Box 2 ?
“uoYe 9% "4

5/o
RO X¢ @0)(3 Boxw 4},‘600‘//
P .‘Dfp(c “\fe
Jo0
\ 00 \ooa o0

[ vgh - 2000 500 \ \000\ {900
-kc d'\

a) P (D) = Ip (D/?ox‘) P(Fos(‘) @ p (D/EOXQJ p(B-oXL)QY {D/ﬂax.g) PfBa,g)

@ () (D/Saxw) P(BOK%)
(

p(Boxy ) =p(Boxs) = pBoxy)=0.2C = 7

P(Bafl)'—‘
0@
(W ) ol ) (L)@ l) (s
= g’O (O +—C‘{—E) 7(;" 100
) P(BOX?_/D):; p(D/Boy,) plDoxz
— o T
oo ~—4~

Scanned by CamScanner



Tuble B-1 Values of Fix) for 0 < x < 389 in steps of 0.01
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